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o.R¢.
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H.30.

' s_t.a?.

T.32.

31.33.

q,.3%.

R)Ems - (R) g (3) 3 (¥) w9
...... Honesty is ...... best policy. (Use correct articies)

(2) the, a. (?) no article, the

(3) the, the : -~ (¥)noarticle, no article

(Q. 27 to Q. 28) What is the meaning of following idioms / phrase.
At the eleventh hour.

(%) at late night (R) after inevitable has happened
(3) at the last moment _ (¥) justbefore the next day
Between Scylfa and Charybdis.

(%) on a very narrow path.

(?) between two great difficulties. |
(3) between one good choice and one bad choice.
(¥) between two good choices.

Panacea means ......

(2) aremedy for all diseases | (?) beautiful landscape

(3) universal truth . (‘_&) very big

We congratulated him ...... his success. (Use the correct preposition)
(%) on ; (?) of : (3) for (¥) upon

The Ganga is the longest rever in India. (Make positive)
(2) The ganga is longer than any other river in India.

(R) The Ganga is longest of all rivers in India.

(3) No riverin India is loger than the Ganga.

(¥) No other river in India is as long as the Ganga.

ARevive MP Mr. Patil has done many good things for people. (Use the correct

(2)a (2) an (3) the (¥) noarticle
Which statement has correct use of punctuation marks? _

(%) No, I said, [ don’t want a basket. () No, I said, I don't warit a basket.
(3) No I said I don't want a basket. (¥) No I said I dont wan't a basket.
At an early age he made his mark as a chemist.

(What is the meaning of underlined words?)

(%) made chemical mark (%) was young boy

(3) distinguished himself ~ (%) took a firm stand



.34,

H.3%.
.36,

q.34.

T.3%.

u‘xo.

.49,

T.¥3.

T.¥3.

dog : bitch :: stag : ?

(2) heifer () mare (3) ewe . (¥) doe
There is a view point high ...... the hill. (Use correct preposition)

(¢)on - (?)in_ (3) at (¥) top
“Have you - this book’? (Use proper past participlé form of the verb read)
(%) red” (?) readed (3) reading (¥) read

#t ux fofees g, (Translate in to English)

(%) Lhad written a letter. - (R) Iwas written a letter.

(3) Thad wrote a letter. (¥) Thad been written a letter.

Why are we here?, asked a boy to his mother. (Make indirect speech)
(2) A boy asked his mother why they were here.

() Aboy asked to his mother why they were there.

(3) Aboy asked his mother why they were there.

(¥) Aboy asked to his mother why we were here.

" We haven’t met before, ...... (Use question tag)

(%) haven’twe? () havenotwe?  (3)havewe? . (¥)havewe met?
The food was very hot. We could not eat it. (Rewrlte using too)

(2) The food was so too hot that we could not eat it.

(R) The food was too hot for us to cat.

(3) The food was 80 hot that we could not eat too.

(¥) The food was so hot for us too eat.

We like History better than Geegraphy (Rewrite using prefer)

. (2) We prefer Geography to History.

() We prefer History to Geography.

-(3) We like History being preferred to Geography

(¥) Let’s prefer History to Geography.

There I saw a very old man. ( Make complex sentence)
(2) There I saw a man who was very old.

(R) There I saw a man. He was very old.

(3) There 1 was seeing a man who was very old.

(¥) I'saw there a man and he was very old.
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Madhu said to Meena, Work hard if you want to become a teacher. (Make
indirect speech)

(2) Madhu said Meena work hard if she wanted to become a teacher.

() Madhu told Meena to work hard if she want to become a teacher.

(3) Madhu told Meena to work hard if she was wanting to become a teacher.

- (¥) Madhu told Meena to work hard if she wanted to become a teacher.

Synonym of comprehendis ...... |
| (%) Whole () Understand (3) Holistic (¥) Compel
Synonym of slanderis ......

(2) defamation () slim (3) narrow (¥) reptile
Antonym of servantis ......

(3) government (3) owner (3) master (¥) peon

(Q. 48 to Q.50) idehtify correctly spelled words.

(?) address (R) adress (3) addres -~ (¥) adres

(2) supritendent ~ (3) suprintendant  (3) supritendant (¥) superintendant
(%) congretulation (R) congrejulation ~ (3) congratulation ~ (¥) congrajulation
gt : wnfidt 2 X Y (X anfr Y = wreft gdfterdeht srgsn EeTeR S T ?)
(R) @R : SWHETG _ () SHHETE : SR

(3) STMETE : TATR (¥) HISTR : ITHTETG

Rrmarget, R, arETE-THE, QAT 9T HITET ATt g ?

(x) ™ (?) 3@ (3) w1 (¥) T
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(2) @i, & @@ () e, f. Wem
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FHAGHTE WIfGqE Gepa fAardis wis amg?

(g) =sft (R) e (3) 3= (%) HgUs

@R Ifor SroTet AT FHTH WU TSI AT Aara ?

() AFTSE () wefrerrs (3) smEs (¥) uEe Seu
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